Comparing Electronegativities of Elements
1.
CARBON   v.  LEAD
a. Size of Atom

i. Carbon’s smaller size will allow it to get closer to the electrons so it can attract them more greatly than if the nucleus were far away.

b. Nuclear Charge

i. Lead has 82 protons which will attract them more strongly than 6 protons

c. Outer Shell Configuration

i. No difference between them, they both have 4.

CARBON (  En =  2.50

LEAD (  En = 1.87



2. CARBON v. OXYGEN

a. Size of Atom

i. Oxygen is smaller than carbon

b. Nuclear Charge

i. Oxygen has more protons (8) than Carbon (6).

c. Outer Shell Configuration

i. Oxygen is closer to a filled outer shell.

ALL FACTORS FAVOR OXYGEN


CARBON (  En = 2.50


OXYGEN = 3.50

